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Limiting Reagent

In a chemical reaction, the reactant that will "run out" first is called
the limiting reagent.
The other reactant is called the excess reagent.
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Percent Reaction

Percent Reaction (percent yield) - is the amount of product measured
at equilibrium compared with the maximum possible amount of
product.

Equilibrium position
relative concentration of reactants and products at equilibrium
-0 % indicates no product formed

=100 % indicates the maximum possible product formed

- maximum amount of possible product is found using stoichiometry,
assuming a forward reaction with no reverse reaction.

% reaction = Experimental yieldf eqm.
------------------------- x 100 %

Theoretical yield (maximum)(\ notk @ eqm

Classifying Chemical Equilibria

< 50 % - reactants favored ——
> 50 % - products favored —>
> 99 % - quantitative

—

\
l

The equilibrium position of the reaction is indicated in the following
manner :

78%
EX.Hz(g) + IZ(g) <==> ZHI(g) t - 4480

Indicates that 78 % of the total amount of HI possible is produced at
448°C. Therefore this is a product favored reaction.
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SAMPLE PROBLEM : % REACTION

Find the % reaction and write the expression if 6.90 g of Hy,
and 32.0 g of Oyq react to form 25.75 g of ice at - 70 Co.
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Find the % reaction and write the expression if 10.0 g of Hyy,
and 94.0 g of Clq react to form 15.4 g of hydrochloric acid.
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